Jjo
i
i

T 170

BELEERTE EAEMBEOERIZ DT

(BEHIRE)

KigH X



A IR T R I AR O S (& TR E)

H T B R RO K D IZEE T 5,
G D IE~ G O G - ey o 5 1 fi =
fill H (LTI | FEO B R FEHOBH R Bl FE O
A A PREE DR o i S DR g 25 T 17
B—EIERE % 67.1ha 8/10LTF 5/10HF 1. 0m — 10m 2.0% | % 67 1ha
A s % 261. 4ha 8/10LF 6/10LF 1. Om — 10m 7.8% | %) 261.2ha
N it #)_328.5ha 9.8% | #) 328.3ha
BE_EIEE %7  18.8ha 8/10LTF 6/10LF 1. 0m — 10m 0.6% | #__ 18.7ha
R
/N it #)_ 18.8ha #  18.7ha
M E %) 148.8ha 20/10LF 6/10LF — — — 4.4% | 9 148.8ha
{5 it
N B %7 148.8ha #9 148.8ha
& E ) 234.2ha 20/10LF 6/10LF — — — 7.0% | # 234.2ha
{50 itk
N | % 234.2ha % 234. 2ha
g — #@ #7_ 399. Oha 20/100F 6/10LF — — — 11.9% | #_399. Oha
& E o
/N i #J_399. Oha #  399.0ha
B — ® | # 6356ha 20/10LF 6/10LF — — — 19.0% | #_633.3ha
& B O
7N 7t | #_635.6ha % 633.3ha
¥ He ek #  53.0ha 20/10LF 6/10LF — — — 1.6% | #  53.0ha
N at #)  53.0ha 9  53.0ha
T BEREE R #1  117.9ha 20/10LF 8/10LF — — — 3.5% | #_120.5ha
7N it | #_117.9ha #)  120.5ha
(R 7 # 56.0ha 40/10HUF | 8/10MTF — — — 1.7% | % 56.0ha
% 7.5ha 50/10LF — — — 0.2% | ¥ 7.5ha
N # | % 63.5ha 1.9% | % 63.5ha
e T ¥ Hh g % 607. 6ha 20/100TF | 6/10UTF — — — 18.2% | %1 607.6ha
7N i | % 607.6ha % 607. 6ha
T ¥ Mok | &9 345.8ha 20/100F | 6/10UF — — — 10.3% | %1 345.8ha
I | % 345.8ha %) 345.8ha
T sk #) 393. 8ha 20/10LTF 6/10LF — — — 11.8% | # 393.8ha
I | % 393.8ha % 393.8ha
& | %9 3346.5ha 100.0% | #J 3346. 5ha
M, (E R OIIIRIRE RO LBV |
Hooh

ATEC RS D FEEEFT ] D FUE U M OERS A O EVEZE I S oH @) 72 THf H & B 7efifs
MO ZX D720, ARl Z2ZET4+550ThH D,




B I TR AR D ZE B RAg R X))

28 PR

ARHIX X, A& OE B ALAE BRI 1km ([S0E L, Ak 9 4E & Tz X\
TR SNTZHEXTHD, HBETOEBOMS L LT, 178, MH¥E, ¥5. 250w
Bl A4 L. RHIRIC RAF R HIBREE DR A BHE L T,

BRI M O B OAT B s % T & LT, M A SRR o FlC 9 5 B D A
LT & D HIREE R & LTy, AT TR 2 2 FFR IS A ERAT~BE L, A
BORITEIIBRNO ORBREIHOTZDF 3 0 FICHPHBE IR LTz, ZhIZLD,
TR EE & LCo TR A& T %, HHFIHFHR O RE LASNE L 2o TV D,

ZOZ LIPS, THFIHGEOZEE &30S, B O AT 21T T HURH OTE
ItE2KDHDOTH D,



FRHUSRDOE T IR D XKIR—ER

X%y Hi[X 4, LI SE Hifs (ha)
ITREREE I (200/80) 25 2 5h
R HUE (200/60) (T | KIEHIX ikl (% 25 45900)
IS B Kk o
UTRERG 3 - (200/80) 715 0. 1ha
A i el R LR FAG X f& T (%) 577ud)
(80/60) (ZZ8 5§ % Xk h "
R EHE (200/60) 05 0. 1h
- RSB (T R M | KK ikt & 1 038ud)
(80/60) =S H 2 [K ik T
5 R EHEE (200/60) 205 0. 1h
R AR (R R M KAGHIX FeE ] & 5831112)
(80/60) |ZZEH 4 4 [Ximk :
o R SR (200/60) 73D 0. Oha
RS s (200/60) KAEHIX & '

(CZEHY 5 K

(% 426mt)




A m AR ERE

Fii ¥ HE N A W) iF 5

55— FAEC e 3 B Mtk 0. 2ha — ha +0. 2ha
(80,750) (— ha) (— ha) ( — ha)
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